daga ciladlas

e (1) laia¥) Al _S Rl 20 -

Aadia (YA) olaie¥) A S Ciladia e -

el gine g8 claial) A S Ciladia dae e g ALYIa8 55 (e ST -

(Cbele) JLEAY) (e -

A (F) DlaadU 4Kl da il -

s Agliay cilaghetl) 038 ) 8, il 5 a3

ALY e cal Lghsa g Al dadie g Glaiel) Al jS dadie b el g 1 el T
sl 8 eadl U lam 48 S5 eiliag Jisad) T3

Jigm JS e L8 Baa) g dady AlaY) qigllaall g ¢ Bl dan sia ALid)

ALY o e aladiiad aae 5 ecile guyll (A Galia sl Gl 5 ¢ 0T 55 Y Gilall A st
dalad Aala) Al 85 AU dacadal) Aalwall 8 aad cddlaal) Al W50 ey die
cro AL ls) o) 5 ¢ L) 5 LY pe 53 gl ilaiia 3 AlaY) JaSi il K (5 A
R ol g Al

rJuia

Al (B) 5 (A) oo wal sy AlEa ALY Ge otils) N
raa g ¢ e (e JLEAY) Alidd e iy aie

e JS0 SIS SIS B mall s e JIall a0 el s palal Jiks
s (C) Aagmuall dglal) 1 s

Mia dagaall 4ty

®O®

Aana WY et dana Ala) Gl el Cudd 5 clad Als) Cual 1Y Ledlls B -
Lo LY et Uad Als) @l g Qlally Cudd 2 ¢ Aagaa s Gl 13 Lo dlls a5 -
: 4 gala
A gl 3ay Cra JSH Ao JallaEl) a3 03 (daia (e JLEAYY) A g gall ALl A B
Ak o) e ¢ Llay) )

Aaulal Ay e\é&lm\__a T
i2=-1, (0%, ®, 1) are the cubic roots of one .

(7 . ,K)are aright set of unit vectors .
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@ 12 players participated in a swimming A Lod) Al 3 GeY 1Y i

computation, by how many ways can the 1% | 35l w5 W oKer 42 b oS

, 2" and 3" places be arranged ? £y SW J oY)

@ 220 ® 1320 wre @ v D
© 72 @ 60 O wo e

wwyjailledg o



Y 1 Vo P . e
In the expansion of ( 2x + ;)15 Jfind the <U For) 4 S &
value of the term free of x ,then prove that oo L}B‘j‘ 2ol e dmsl
this e).ip'ansu;n does not contain a term 25 Y 8 Sadl e o il
containing x-.
S G s e
2
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g_)—‘ u+‘ . .
@ If “*Pp.=x, " Pp, =y, then the least 2= 7= 07T 08 1)

value for the number | X -y RSl P B LR
equals ............... | o\

wjailleig o



@ If the middle term in the expansion of 4 S & Lo V1 a1 813

8n oN, 0P oY
2 , A s T Y
(—x + ;—2) is the ninth term , thenn = ---- C‘u‘ IPERE o v )

3
................ =v Ol

@ 1 ® 3 re@ v O
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@ If |Z| = |Z + 2|, then the real part of the | ¥+ El=1£ [0S 131

complex number Z = ........ Sl saall adsd 520 ol
............. _¢
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@ The exponential form of the number sdall ZY1 ) gl
Z=2-2\3iis...... o v Wrev=g

@ eBTni Zez?ni C’ﬂ%_m @ QﬂTA.m @
@ 4ez?ni @ 48_?“i Q%Ai @ .

wjailleig ol



@

Dsdadl o (W) esl8 13
O ol sl 2
..................... =‘~(Ycoo +Y+me)

@ 343 ® -343 e Q0 ovr (D

If 1, w, w? are the cubic roots of one, then
(5w + 2 + 5w?)3=

.......

wwyjailledg o



Answer one of the following items
a- Put the number 1 —/3i in the

trigonometric form, then find the square

roots of it.

b-1IfZ = e,

h 1+z _iCOte
prove that : T— = >

G G R8N G| G i

bpall B ¥V sl ]

A dng A1 ddl gl 5 A2l
R ) RN

I A I FCI ¢
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@ Without expanding the determinant,
Prove that :

1 1 1
1+y 1 1=y2
1 1+y 1

:QTQ,S‘T:W\&GQjJ.g
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(0,4,0) and touches xz-plane is ........

®

® ©

The equation of the sphere with center

x>+ (-4 +2z*=0

x>+ —-4)*+2z2=16

(+ ot o) 23S 35, Aslas

%-\;ﬂ&;\&?\dw\wj

v

v

v

c= E (o)t

V1=T8 4 (5 0)

“=Yf,+vu4+vu*

=g et (e

wjailleig o
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Solve the following system of linear

equations using the inverse matrix :

s LAY sl

Asaal g pdll rsSadl)
= pT o

= ot oY
N=§ - oot o
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© If 30°,70°,8" are the direction angles of 0.°VacoF OIS 13)

a vector ,then one of the values of 6 axcel oYLl T
equals ......... =03 gl OB

@ 100° @ R0° oA @ °o\.. @
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The measure of the angle between the two

straight lines :
Ly: x=2-5k
, y=1—k
,Z =3+ 4k
Lzlx_ﬂ= 2 =

3 4

.........

Osesitndl po & 51N S

¢ ij—\=ué ¢ 330—"=u—~:\d

wjailleig o

‘5£+V=é
E _ oY Ve \“-S
Y 2 Y
.............. 63@
CAY @ °Vo @
°Ao /¢ @ °s. /vo @
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The two straight lines :
rn=0124)+k(2-11),
r, = (1,2,4) + k,(—2,7,11)

............

@) parallel (b  skew

@ perpendicular @ congruent

O‘ :.. 3
(VN -aY) B (e ) ="

(W oV oY) S+ (8 Y ) =T

........ AL
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@ Prove that the triangle whose vertices are | Ll 4wy, gl Sdadt of i

the pOintS: (V © cV) c(i g 40) c(" ¢\ cV)
(7,1,3),(5,3,4),(3,5,3) is an 1sosceles triangle. oLl s slus Edie 5a
18
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If 6, is the angle formed by the straight line | ¥ ' % 50 2 5.6 <3813
passes through the point (3,-1,1) and the (V- o) daidl S el
origin point with the positive direction of o sall ol - MY Al

the z-axis ,then %e\:?. S8 ) g
cosf, =.......

1 1
® ® L L Q@ 2O
© @ ! + O 6

19
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@ The length of the perpendicular drawn
from the point (1,5,-4) to the plane whose
equation : 3X - y+2z=6
equals .......... length unit

® ®
®
gls s

M‘u‘f}“&"j‘bj""d\d}b

S (§ sl (o (-0 V)
1=&\'+uo- u—d\‘ adslee

wjailleig o
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{ .
Answer one of the following items: : OGN 55 300 S| e asl

a- Find the different forms of the equation Dolad) ddliedl ) o)l am sl |
of the plane passes through the point (+ d-ov) Aaidly W 6 sl
(2,-1,0) and the vector TV -T2 Al
n = 41+ 10j — 7k is perpendicular to it. ade @505

b- Find the measure of the angle . —,
between the two straight lines whose R oS vl
direction ratios are (1,1,2) and ool o Gyl et
W3—1—v3—14) (8- TV - ¥ ) (Y oy )

21

wwyjailledg o






@ If the plane 3x + 2y + 4z = 12 cuts the & sl alad 13)

coordinate axes X,y,z at the points A ,B and 29\ \Y =B e+ of +
C respectively, Calculate the area of A ABC BHe~2 car Sl

}UPA&P—L«»AW |
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